	BID SUMMARY 2013 Citywide Street Resurfacing Project			ENGIN ESTIN		& GRAV	A ASPHALT /EL, INC.	CONST	ANITE RUCTION IPANY				
	CITY PROJECT NO. 2353					Yakima, WA		Yakir	na, WA			<u> </u>	
ITEM	Bid Security					5% BID BOND		5% BID BOND					
NO.	ITEM	QTY	UNIT	UNIT PRICE	UNIT PRICE AMOUNT		UNIT PRICE AMOUNT		UNIT PRICE AMOUNT		AMOUNT	UNIT PRICE	AMOUNT
	SCHEDULE 'A'												
1	SPCC PLAN	1	LS	\$500.00	\$500.00	\$320.00	\$320.00	\$200.00	\$200.00				
2	MOBILIZATION	1	LS	\$71,570.66	\$71,570.66	\$15,300.00	\$15,300.00	\$188,194.20	\$188,194.20				
3	PROJECT TEMPORARY TRAFFIC CONTROL	1	LS	\$150,000.00	\$150,000.00	\$48,000.00	\$48,000.00	\$45,000.00	\$45,000.00				
4	SAW CUT	300	LF	\$2.00	\$600.00	\$3.00	\$900.00	\$2.00	\$600.00				
5	REMOVING CEMENT CONC. SIDEWALK	60	SY	\$25.00	\$1,500.00	\$50.00	\$3,000.00	\$60.00	\$3,600.00				
6	REMOVING CEMENT CONC. CURB	165	LF	\$5.00	\$825.00	\$4.50	\$742.50	\$7.00	\$1,155.00				
7	PLANING BITUMINOUS PAVEMENT	41,815	SY	\$3.00	\$125,445.00	\$1.90	\$79,448.50	\$2.50	\$104,537.50				
8	CRACK SEALING	EST	DOL	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00				
9	HMA CL. 1/2 IN. PG 64-28	4,857	TON	\$85.00	\$412,845.00	\$80.00	\$388,560.00	\$85.00	\$412,845.00				
10	HMA FOR PRELEVELING CL. 3/8 IN. PG 64-28	486	TON	\$100.00	\$48,600.00	\$85.00	\$41,310.00	\$85.00	\$41,310.00				
11	ANTI-STRIPPING ADDITIVE	EST	DOL	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00				
12	ADJUST VALVE BOX	52	EA	\$400.00	\$20,800.00	\$330.00	\$17,160.00	\$500.00	\$26,000.00				
13	ADJUST MANHOLE	37	EA	\$400.00	\$14,800.00	\$870.00	\$32,190.00	\$1,000.00	\$37,000.00				
14	CATCH BASIN FRAME AND GRATE	1	EA	\$425.00	\$425.00	\$645.00	\$645.00	\$450.00	\$450.00	<u></u>			
15	CEMENT CONC. TRAFFIC CURB AND GUTTER	180	LF	\$25.00	\$4,500.00	\$35.00	\$6,300.00	\$29.00	\$5,220.00				
16	CEMENT CONC. PEDESTRIAN CURB	140	LF	\$15.00	\$2,100.00	\$18.80	\$2,632.00	\$20.00	\$2,800.00				
17	ADJUST MONUMENT CASE	5	EA	\$400.00	\$2,000.00	\$1,000.00	\$5,000.00	\$1,500.00	\$7,500.00				
18	CEMENT CONC. SIDEWALK RAMP, TYPE PARALLEL A	3	EA	\$1,500.00	\$4,500.00	\$1,275.00	\$3,825.00	\$1,150.00	\$3,450.00				
19	CEMENT CONC. SIDEWALK RAMP, TYPE SINGLE DIRECTION A	7	EA	\$1,500.00	\$10,500.00	\$1,355.00	\$9,485.00	\$1,200.00	\$8,400.00				
20	DETECTIBLE WARNING SURFACE	260	SF	\$25.00	\$6,500.00	\$36.00	\$9,360.00	\$40.00	\$10,400.00				
21	PAINT LINE	16,000	LF	\$0.50	\$8,000.00	\$0.16	\$2,560.00	\$0.16	\$2,560.00				
22	PAINTED WIDE LANE LINE	515	LF	\$0.75	\$386.25	\$0.18	\$92.70	\$0.18	\$92.70				
23	PAINTED STOP LINE	369	LF	\$3.00	\$1,107.00	\$0.75	\$276.75	\$0.75	\$276.75				
24	PAINTED TRAFFIC ARROW	8	EA	\$75.00	\$600.00	\$35.00	\$280.00	\$35.00	\$280.00				
25	PAINTED CROSSWALK LINE	200	SF	\$3.00	\$600.00	\$4.30	\$860.00	\$4.25	\$850.00				
26	TEMPORARY PAVEMENT MARKINGS	16,000	LF	\$0.50	\$8,000.00	\$0.13	\$2,080.00	\$0.10	\$1,600.00				
27	ADDITIONAL WORK	1	LS	\$10,000.00	\$10,000.00	\$1,050.00	\$1,050.00	\$5.00	\$5.00				
28	REPAIR OR REPLACEMENT	EST	DOL	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00				
	SCHEDULE 'A' TOTAL				\$966,703.91		\$731,377.45		\$964,326.15				
	(Continued on Page 2)												

CITY ENGINEERS REPORT

COMPETITIVE BIDS WERE OPENED ON APRIL 30, 2013. ALL BIDS HAVE BEEN REVIEWED BY THIS OFFICE. I RECOMMEND THE CONTRACT BE AWARDED TO:

COLUMBIA ASPHALT & GRAVEL, INC.

5 1 13 Day May



AWARD MADE BY CITY MANAGER

5-7-13 Jovey O Conhe
DATE CITY MANAGER

CITY OF YAKIMA

2013 Citywide Street

Resurfacing Project

PROJECT NO. 2353

DATE: **April 30, 2013**

FILE: 2013 Citywide Resurf Bid Sum.pub

BID SUMMARY 2013 Citywide Street Resurfacing Project CITY PROJECT NO. 2353				ENGINEERS ESTIMATE		COLUMBIA ASPHALT & GRAVEL, INC. Yakima, WA		GRANITE CONSTRUCTION COMPANY Yakima, WA					
ITEM	Bid Security					5% RI	D BOND		D BOND				
NO.	ITEM	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
110.	SCHEDULE 'B'	Q.I.	Oltil	OMITTIMOL	AMOUNT	OMITTMOL	AMOUNT	OMITTMOL	AMOUNT	OMITTMOL	AMOUNT	OMIT I MOL	AMOUNT
1	SPCC PLAN	1	LS	\$500.00	\$500.00	\$320.00	\$320.00	\$200.00	\$200.00				
2	MOBILIZATION	1	LS	\$94,988.40	\$94,988.40	\$30,250.00	\$30,250.00	\$7,500.00	\$7,500.00				
3	PROJECT TEMPORARY TRAFFIC CONTROL	1	LS	\$150,000.00	\$150,000.00	\$51,500.00	\$51,500.00	\$100,000.00	\$100,000.00				
4	SAW CUT	6,700	LF	\$2.00	\$13,400.00	\$1.25	\$8,375.00	\$2.00	\$13,400.00				
5	REMOVING CEMENT CONC. SIDEWALK	378	SY	\$25.00	\$9,450.00	\$50.00	\$18,900.00	\$60.00	\$22,680.00				
6	REMOVING CEMENT CONC. CURB	535	LF	\$5.00	\$2,675.00	\$4.50	\$2,407.50	\$7.00	\$3,745.00				
7	PAVEMENT REPAIR EXCAVATION INCL. HAUL	1,310	CY	\$20.00	\$26,200.00	\$30.00	\$39,300.00	\$30.00	\$39,300.00				
8	CRUSHED SURFACING BASE COURSE	1,660	TON	\$25.00	\$41,500.00	\$18.00	\$29,880.00	\$25.00	\$41,500.00				
9	PLANING BITUMINOUS PAVEMENT	25,150	SY	\$3.00	\$75,450.00	\$1.90	\$47,785.00	\$2.50	\$62,875.00				
10	CRACK SEALING	EST	DOL	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00				
11	HMA CL. 1/2 IN. PG 64-28	4,625	TON	\$85.00	\$393,125.00	\$80.00	\$370,000.00	\$85.00	\$393,125.00				
12	HMA FOR PAVEMENT REPAIR CL. 1/2 IN. PG 64-28	930	TON	\$150.00	\$139,500.00	\$88.00	\$81,840.00	\$105.00	\$97,650.00				
13	HMA FOR PRELEVELING CL. 3/8 IN. PG 64-28	775	TON	\$100.00	\$77,500.00	\$85.00	\$65,875.00	\$85.00	\$65,875.00				
14	ANTI-STRIPPING ADDITIVE	EST	DOL	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00				
15	ADJUST VALVE BOX	50	EA	\$400.00	\$20,000.00	\$330.00	\$16,500.00	\$500.00	\$25,000.00				
16	ADJUST MANHOLE	29	EA	\$400.00	\$11,600.00	\$870.00	\$25,230.00	\$1,000.00	\$29,000.00				
17	ADJUST CATCH BASIN	24	EA	\$400.00	\$9,600.00	\$425.00	\$10,200.00	\$750.00	\$18,000.00				
18	ADJUST METER BOX	6	EA	\$400.00	\$2,400.00	\$215.00	\$1,290.00	\$500.00	\$3,000.00				
19	ADJUST J-BOX	2	EA	\$400.00	\$800.00	\$215.00	\$430.00	\$1,500.00	\$3,000.00				
20	ADJUST COMMUNICATION LID	10	EA	\$400.00	\$4,000.00	\$600.00	\$6,000.00	\$1,500.00	\$15,000.00				
21	CEMENT CONC. TRAFFIC CURB AND GUTTER	380	LF	\$20.00	\$7,600.00	\$35.00	\$13,300.00	\$29.00	\$11,020.00				
22	CEMENT CONC. TRAFFIC CURB	125	LF	\$20.00	\$2,500.00	\$34.00	\$4,250.00	\$30.00	\$3,750.00				
23	CEMENT CONC. PEDESTRIAN CURB	290	LF	\$20.00	\$5,800.00	\$18.80	\$5,452.00	\$20.00	\$5,800.00				
24	ADJUST MONUMENT CASE	1	EA	\$400.00	\$400.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00				
25	CEMENT CONC. SIDEWALK	150	SY	\$50.00	\$7,500.00	\$56.00	\$8,400.00	\$50.00	\$7,500.00				
26	CEMENT CONC. CURB RAMP, TYPE PARALLEL A	2	EA	\$1,500.00	\$3,000.00	\$1,275.00	\$2,550.00	\$1,000.00	\$2,000.00				
27	CEMENT CONC. CURB RAMP, TYPE 4A	3	EA	\$1,500.00	\$4,500.00		\$3,975.00	\$1,200.00	\$3,600.00				
28	CEMENT CONC. CURB RAMP, TYPE PERPENDICULAR A	35	EA	\$1,500.00	\$52,500.00	\$1,310.00	\$45,850.00	\$1,000.00	\$35,000.00				
29	CEMENT CONC. CURB RAMP, TYPE PERPENDICULAR B	8	EA	\$1,500.00	\$12,000.00	\$1,360.00	\$10,880.00	\$1,000.00	\$8,000.00				
30	CEMENT CONC. CURB RAMP, TYPE SINGLE DIRECTION A	5	EA	\$1,500.00	\$7,500.00	\$1,355.00	\$6,775.00	\$1,200.00	\$6,000.00				
31	TRAFFIC ISLAND REPLACEMENT	1	LS	\$3,000.00	\$3,000.00	\$20,835.00	\$20,835.00	\$10,500.00	\$10,500.00				
32	PAINT LINE	15,600	LF	\$0.50	\$7,800.00	\$0.16	\$2,496.00	\$0.16	\$2,496.00				
33	PAINTED WIDE LANE LINE	3,300	LF	\$0.75	\$2,475.00	\$0.18	\$594.00	\$0.18	\$594.00				
34	PAINTED STOP LINE	725	LF	\$3.00	\$2,175.00	\$0.75	\$543.75	\$0.75	\$543.75				
35	PAINTED TRAFFIC ARROW	17	EA	\$75.00	\$1,275.00	\$35.00	\$595.00	\$35.00	\$595.00				
36	PAINTED CROSSWALK LINE	210	SF	\$3.00	\$630.00	\$4.30	\$903.00	\$4.25	\$892.50				
37	PAINTED RAILROAD CROSSING SYMBOL	4	EA	\$400.00	\$1,600.00	\$85.00	\$340.00	\$85.00	\$340.00				
	(Schedule B Continued on Page 3)												



CITY OF YAKIMA

2013 Citywide Street Resurfacing Project

PROJECT NO. 2353

DATE: **April 30, 2013**

FILE: 2013 Citywide Resurf Bid Sum.pub

SHEET 2 of 4



	BID SUMMARY 2013 Citywide Street Resurfacing Project CITY PROJECT NO. 2353			ENGIN ESTIN		& GRA	A ASPHALT VEL, INC. ma, WA	CONST COM	ANITE RUCTION IPANY				
			1			·		Yakima, WA				1	
ITEM	Bid Security	OT)/		LINET DOLOT	LINIT PRIOF		5% BID BOND		5% BID BOND		444011117	LINUT DDIAG	AMOUNT
NO.	ITEM	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SCHEDULE 'B' Continued												
38	PAINTED TRAFFIC LETTER	8	EA	\$50.00	\$400.00	\$15.00	\$120.00	\$15.00	\$120.00				
39	TEMPORARY PAVEMENT MARKINGS	20,000	LF	\$0.50	\$10,000.00	\$0.13	\$2,600.00	\$0.10	\$2,000.00			_	
40	ADDITIONAL WORK	1	LS	\$10,000.00	\$10,000.00	\$6,150.00	\$6,150.00	\$5.00	\$5.00				
41	REPAIR OR REPLACEMENT	EST	DOL	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00				
	SCHEDULE 'B' TOTAL				\$1,282,843.40		\$1,011,191.25		\$1,110,606.25				
	SCHEDULE 'C'												
1	SPCC PLAN	1	LS	\$500.00	\$500.00	\$320.00	\$320.00	\$200.00	\$200.00				
2	MOBILIZATION	1	LS	\$143,828.40	\$143,828.40	\$47,000.00	\$47,000.00	\$7,500.00	\$7,500.00				
3	PROJECT TEMPORARY TRAFFIC CONTROL	1	LS	\$160,000.00	\$160,000.00	\$64,100.00	\$64,100.00	\$110,000.00	\$110,000.00				
4	SAW CUT	10,425	LF	\$2.00	\$20,850.00	\$1.25	\$13,031.25	\$2.00	\$20,850.00				
5	REMOVING CEMENT CONC. SIDEWALK	750	SY	\$25.00	\$18,750.00	\$50.00	\$37,500.00	\$60.00	\$45,000.00				
6	REMOVING CEMENT CONC. CURB	1,355	LF	\$5.00	\$6,775.00	\$4.50	\$6,097.50	\$7.00	\$9,485.00				
7	PAVEMENT REPAIR EXCAVATION INCL. HAUL	1,680	CY	\$20.00	\$33,600.00	\$30.00	\$50,400.00	\$30.00	\$50,400.00				
8	CRUSHED SURFACING BASE COURSE	3,200	TON	\$25.00	\$80,000.00	\$18.00	\$57,600.00	\$25.00	\$80,000.00				
9	PLANING BITUMINOUS PAVEMENT	34,660	SY	\$3.00	\$103,980.00	\$1.90	\$65,854.00	\$2.50	\$86,650.00				
10	CRACK SEALING	EST	DOL	\$85,000.00	\$85,000.00	\$85,000.00	\$85,000.00	\$85,000.00	\$85,000.00				
11	HMA CL. 1/2 IN. PG 64-28	7,600	TON	\$85.00	\$646,000.00	\$80.00	\$608,000.00	\$85.00	\$646,000.00				
12	HMA FOR PAVEMENT REPAIR CL. 1/2 IN. PG 64-28	1,440	TON	\$150.00	\$216,000.00	\$88.00	\$126,720.00	\$105.00	\$151,200.00				
13	HMA FOR PRELEVELING CL. 3/8 IN. PG 64-28	1,375	TON	\$100.00	\$137,500.00	\$85.00	\$116,875.00	\$85.00	\$116,875.00				
14	ANTI-STRIPPING ADDITIVE	EST	DOL	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00				
15	ADJUST VALVE BOX	70	EA	\$400.00	\$28,000.00	\$330.00	\$23,100.00	\$500.00	\$35,000.00				
16	ADJUST MANHOLE	13	EA	\$400.00	\$5,200.00	\$870.00	\$11,310.00	\$1,000.00	\$13,000.00				
17	ADJUST CATCH BASIN	42	EA	\$400.00	\$16,800.00	\$425.00	\$17,850.00	\$750.00	\$31,500.00				
18	ADJUST METER BOX	2	EA	\$400.00	\$800.00	\$215.00	\$430.00	\$500.00	\$1,000.00				
19	ADJUST J-BOX	7	EA	\$400.00	\$2,800.00	\$215.00	\$1,505.00	\$1,500.00	\$10,500.00				
20	ADJUST COMMUNICATION LID	7	EA	\$400.00	\$2,800.00	\$600.00	\$4,200.00	\$1,500.00	\$10,500.00				
21	CEMENT CONC. TRAFFIC CURB AND GUTTER	1,410	LF	\$20.00	\$28,200.00	\$35.00	\$49,350.00	\$30.00	\$42,300.00				
22	CEMENT CONC. TRAFFIC CURB	75	LF	\$20.00	\$1,500.00	\$34.00	\$2,550.00	\$30.00	\$2,250.00				
23	CEMENT CONC. PEDESTRIAN CURB	680	LF	\$20.00	\$13,600.00	\$18.80	\$12,784.00	\$20.00	\$13,600.00				
24	ADJUST MONUMENT CASE	5	EA	\$400.00	\$2,000.00	\$1,000.00	\$5,000.00	\$1,500.00	\$7,500.00				
25	CEMENT CONC. SIDEWALK	240	SY	\$50.00	\$12,000.00	\$60.00	\$14,400.00	\$50.00	\$12,000.00				
26	CEMENT CONC. CURB RAMP, TYPE PARALLEL A	12	EA	\$1,500.00	\$18,000.00	\$1,275.00	\$15,300.00	\$1,000.00	\$12,000.00				
27	CEMENT CONC. CURB RAMP, TYPE PARALLEL B	7	EA	\$1,500.00	\$10,500.00	\$1,275.00	\$8,925.00	\$1,000.00	\$7,000.00				
	· ·	/											
28	CEMENT CONC. CURB RAMP, TYPE 4A	23	EA	\$1,500.00	\$34,500.00	\$1,325.00	\$30,475.00	\$1,200.00	\$27,600.00				
29	CEMENT CONC. CURB RAMP, TYPE PERPENDICULAR A	16	EA	\$1,500.00	\$24,000.00	\$1,310.00	\$20,960.00	\$1,000.00	\$16,000.00				
30	CEMENT CONC. CURB RAMP, TYPE PERPENDICULAR B	1	EA	\$1,500.00	\$1,500.00	\$1,360.00	\$1,360.00	\$1,000.00	\$1,000.00				
	(Schedule C Continued on Page 4)												



CITY OF YAKIMA

2013 Citywide Street Resurfacing Project

PROJECT NO. 2353

DATE: **April 30, 2013**

FILE: 2013 Citywide Resurf Bid Sum.pub

SHEET 3 of 4



	BID SUMMARY 2013 Citywide Street Resurfacing Project CITY PROJECT NO. 2353				NEERS MATE	& GRA\	A ASPHALT /EL, INC. na, WA	CONST COM	ANITE RUCTION IPANY				
						5% BID BOND		Yakima, WA 5% BID BOND					
ITEM NO.	Bid Security ITEM	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
NO.		QII	UNIT	UNIT PRICE	AWIOUNT	UNIT PRICE	AWIOUNT	UNIT PRICE	AWIOUNT	UNIT PRICE	AWIOUNT	UNIT PRICE	AWIOUNT
01	SCHEDULE 'C' Continued CEMENT CONC. CURB RAMP, TYPE SINGLE DIRECTION A	+ -	EA	\$1,500.00	\$1,500.00	¢1 600 00	\$1,600.00	\$1,200.00	\$1,200.00				
31 32	CEMENT CONC. CORB RAMP, 11PE SINGLE DIRECTION A CEMENT CONC. DRIVEWAY TYPE 1	20	SY	\$1,500.00	\$1,000.00	\$1,600.00 \$92.00	\$1,840.00	\$60.00	\$1,200.00				
33	DETECTABLE WARNING SURFACE	34	SF	\$25.00	\$850.00	\$36.00	\$1,840.00	\$40.00	\$1,200.00				
					· ·			·					
34	PAINT LINE PAINTED WIDE LANE LINE	28,150 4,220	LF LF	\$0.50 \$0.75	\$14,075.00	\$0.16	\$4,504.00	\$0.16 \$0.18	\$4,504.00 \$759.60				
35 36	PAINTED WIDE LANE LINE PAINTED STOP LINE	4,220	LF	\$3.00	\$3,165.00 \$1,260.00	\$0.18 \$0.75	\$759.60 \$315.00	\$0.18	\$315.00				
37	PAINTED STOP LINE PAINTED TRAFFIC ARROW	420	EA	\$75.00	\$3,150.00	\$35.00	\$1,470.00	\$35.00	\$1,470.00				
38	PAINTED TRAFFIC LETTER	4	EA	\$50.00	\$200.00	\$15.00	\$60.00	\$35.00 \$15.00	\$60.00				
39	TEMPORARY PAVEMENT MARKINGS	34,000	LF	\$0.50	\$17,000.00	\$0.12	\$4,080.00	\$0.10	\$3,400.00				
40	ADDITIONAL WORK	1	LS	\$10,000.00	\$10,000.00	\$13,700.00	\$13,700.00	\$5.00	\$5.00				
41	REPAIR OR REPLACEMENT	EST	DOL	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00				
	SCHEDULE 'C' TOTAL		DOL		\$1,942,183.40	Ψ23,000.00	\$1,562,549.35	Ψ23,000.00	\$1,701,183.60				
	SCHEDOLE C TOTAL				\$1,942,103.40		φ1,502,549.55		\$1,701,103.00				
	SCHEDULE 'D'												
1	SPCC PLAN	1	LS	\$500.00	\$500.00	\$320.00	\$320.00	\$200.00	\$200.00				
2	MOBILIZATION	1 1	LS	\$17,000.00	\$17,000.00	\$13,200.00	\$13,200.00	\$10,000.00	\$10,000.00				
3	PROJECT TEMPORARY TRAFFIC CONTROL	1	LS	\$35,000.00	\$35,000.00	\$17,500.00	\$17,500.00	\$30,000.00	\$30,000.00				
4	SAW CUT	100	LF	\$2.50	\$250.00	\$2.00	\$200.00	\$2.00	\$200.00				
5	PAVEMENT REPAIR EXCAVATION INCL. HAUL	1,350	CY	\$20.00	\$27,000.00	\$30.00	\$40,500.00	\$30.00	\$40,500.00				
6	CRUSHED SURFACING BASE COURSE	2,050	TON	\$20.00	\$41,000.00	\$18.00	\$36,900.00	\$25.00	\$51,250.00				
7	ASPHALT TREATED BASE	760	TON	\$75.00	\$57,000.00	\$60.00	\$45,600.00	\$75.00	\$57,000.00				
8	PLANING BITUMINOUS PAVEMENT	5,330	SY	\$3.00	\$15,990.00	\$1.90	\$10,127.00	\$2.50	\$13,325.00				
9	CRACK SEALING	EST	DOL	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00				
10	HMA CL. 1/2 IN. PG 64-28	1,010	TON	\$85.00	\$85,850.00	\$80.00	\$80,800.00	\$85.00	\$85,850.00				
11	HMA FOR PRELEVELING CL. 3/8 IN. PG 64-28	100	TON	\$100.00	\$10,000.00	\$85.00	\$8,500.00	\$85.00	\$8,500.00			 	
12	ANTI-STRIPPING ADDITITIVE	EST	DOL	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00			1	
13	PAINT LINE	7,300	LF	\$0.50	\$3,650.00	\$0.16	\$1,168.00	\$0.16	\$1,168.00				
14	ADDITIONAL WORK	1	LS	\$10,000.00	\$10,000.00	\$0.00	\$0.00	\$5.00	\$5.00				
15	REPAIR OR REPLACEMENT	EST	DOL	\$25,000.00		\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00				
	SCHEDULE 'D' TOTAL			, ,	\$343,240.00	. ,	\$294,815.00	. ,	\$337,998.00				
	332322 B 101A2				ψο 15,240100		+		4001,000.00				
	TOTAL ALL SCHEDULES (A+B+C+D)				\$4,534,970.71		\$3,599,933.05		\$4,114,114.00				
		1											
							<u> </u>						



CITY OF YAKIMA

2013 Citywide Street Resurfacing Project

PROJECT NO. 2353

DATE: **April 30, 2013**

FILE: 2013 Citywide Resurf Bid Sum.pub

SHEET 4 of 4

